1.

[ etoll @ + @9 gt& F3hAl 2.




2
D 15617 @) 2§ ® 55.35+5

@ 484 +8 ® 2867



A7 27} 3709 120 2+ 4.9kg, 5.7kg, 2.8kgo] o Y& T
o] A7}RE L5 35t 11 Ao A HZo] tiro] 31 Tt
gk Abgell Al oF 2 kgX o] T H=2] ¥FE st 25 =4
22| 7R FSHA L. (0.666 - - - — ©F 0.67)

a'é*i@f kg



w39l e [1] [2] [B][alt asvek [T <[ ]eIA
57t AAEE [orel @ WA go] Fo] Y 27 HE i S
WET, L wredste] 24 34 a7 e Al e (B8 A
2ol 2412.)

D R
=%



10174+ 478 27 57 Afelol 4 WS T S0k 2 A Aol A
NSRS 2o A kol FoHA L.

D
=%



6. e 3%34 33401011 Qi At o]L HUZE?

@® 3.563 @ 3.547 ® 3.374 @ 3.295 ® 3.108



ol 1417 &3 F2

ki

Sty 3272 Al AlZE

[=

¥ Aol

7.



8.

ARl A G Lol
A} 7HA) A 2. (0666 -

oF

=)
—

2 cm

°F 0.67

Cl- oF
L



9.

A el g B[]
1320 +5 =264 —» 1325 =] |

D R
=%



10. A% 2km 2 A& Aol 19km o A= E dol7te o ¥ AlZtol
deleA] 22 YEhfA L.

e = Azk



